

$(1! + 2! + 0! + \dots + 4!)$ $(2! + 3! + 1! + \dots + 4!)$
 $1 + 4 = 5$ $2 + 3 = 5$
 ۵ عدد ۰، ۱، ۲، ۳، ۴
 ۵ عدد ۰، ۱، ۲، ۳، ۴
 $= 5 \times 4 = 20$ $4 = 20$

$$\begin{aligned}
 ((a-b)^x)^y ((a+b)^x)^y &= ((a-b)^x (a+b)^x)^y ((a^x - b^x)^y)^y \\
 &= \left((\sqrt[y]{a^x - b^x} - \sqrt[y]{a^x + b^x})^y \right)^y = \sqrt{a^x - b^x} + \sqrt{a^x + b^x} - \sqrt{a^x - b^x} - \sqrt{a^x + b^x} \\
 &= (\sqrt{a^x - b^x} - \sqrt{a^x + b^x})^2 = x^2 + 1 - 1\sqrt{1^2} - x^2 - 1\sqrt{x^2} = 1^2(1 - \sqrt{x}) \\
 \Rightarrow x &= 1^2
 \end{aligned}$$

$$\begin{aligned}
 \left(\left(a + \frac{1}{a} \right)^x - (\sqrt{x})^x \right)^y &= \left(a^x + \frac{1}{a^x} + x - x \right)^y \\
 a &= \sqrt[x]{(x - \sqrt{x})^x} = \sqrt{x - \sqrt{x}} \Rightarrow \left(x - \sqrt{x} + \frac{1}{x - \sqrt{x}} \right)^x = x^x \\
 \Rightarrow (x - \sqrt{x} + x + \sqrt{x})^x &= x^x \Rightarrow (x)^x = x^x \Rightarrow x = x
 \end{aligned}$$

$$\begin{aligned}
 A &= \sqrt[10]{x^{10}} \times \sqrt[5]{x^5} = \sqrt[5]{x^2} \times \sqrt[5]{x^5} = \sqrt[5]{x^7} = x \\
 (x \cdot A)^{-\frac{1}{x}} &= (1)^{-\frac{1}{x}} = \sqrt[5]{\frac{1}{1}} = \frac{1}{x}
 \end{aligned}$$

$$\begin{aligned}
 \sqrt[n]{a} &= x \sqrt[n]{a^{1/d}} \Rightarrow x \sqrt[n]{a^{1/d}} = 1 \Rightarrow x \sqrt[n]{a^{1/d}} = 1 \\
 \Rightarrow a &= \sqrt[n]{\frac{1}{x^n}} \Rightarrow \frac{1}{a} - x = \sqrt[n]{x} - x = x \sqrt[n]{x} - x \\
 \frac{x(\sqrt[n]{x} - 1)}{1 + \sqrt[n]{x}} &\times \frac{\sqrt[n]{x} - 1}{\sqrt[n]{x} - 1} = \frac{x(x - \sqrt[n]{x})}{x + 1} = \frac{x(x - \sqrt[n]{x})}{x + 1}
 \end{aligned}$$

$$\begin{aligned}
 \sqrt{x+a} - \sqrt{x-\varepsilon} &= y = \\
 (\sqrt{x+a} - \sqrt{x-\varepsilon})(\sqrt{x+a} + \sqrt{x-\varepsilon}) &= y(\sqrt{x+a} + \sqrt{x-\varepsilon}) \\
 \Rightarrow x+a - x+\varepsilon &= y(\sqrt{x+a} + \sqrt{x-\varepsilon}) \\
 \Rightarrow a+\varepsilon &= \sqrt{x+a} + \sqrt{x-\varepsilon} \Rightarrow \sqrt{x+a} + \sqrt{x-\varepsilon} - y = \frac{a}{y}
 \end{aligned}$$

* بیاضی کے ساتھ دیکھیں۔